04 Retirement and other insurance concepts (A& /R F1H:Ath R 5o HE )

Chapter 5

Question 1 - #200703

Typically, a contract for group life insurance is issued to the:

A) producer who sold the policy. B) Insurer. C) Employee. D) Employer.

The correct answer was - D: employer.

B, BEAFRESFE AT AA:
A HEZHRBENETE. B #RKRAA. C) WIL. D) EE.

IEMZSRE -D: eE.

Explanation:

A contract for group life insurance is issued to the policy owner (typically, an
employer). The individuals who are insured under the contract (typically,
employees or others who have a specific relationship to the policy owner) are
given certificates of insurance as evidence of their coverage.
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Reference: 5.3 in the License Exam Manual.

Chapter 13

Question 3 - #201307

Which of the following statements with regard to group term life insurance is
CORRECT?

A) Group insurance plans must be noncontributory.

B) Premiums paid by the employer are tax deductible by the employer and
taxable to the employee.

C) Most group term policies contain a conversion privilege, allowing insureds
to convert the coverage to an individual plan if they leave the group.

D) Since group term coverage is an employee benefit, employers can select
which employees will be covered.

R R N ORI 0 LAR R I 2 IR ?
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Question 3 - #201307
The correct answer was — C
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Explanation:

Employers who provide group term life insurance plans cannot discriminately
limit participation nor can they arrange the plans to favor key employees. Any
premiums paid by the employer are not considered taxable income to the
covered employee, though they are deductible by the employer. Group plans
may be contributory or noncontributory.

Seftt A e N3 GRS THRI e EARE X R 2 5, A BE 2Rt Rl LS R
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Reference: 13.8 in the License Exam Manual.

Question 6 - #201306

All of the following statements pertaining to the conversion privilege of group
term life insurance are correct EXCEPT:

A) When a group plan is terminated, group coverage of the insureds generally
is extended for 60 days.

B) An insured employee typically has 31 days following termination of
employment in which to convert the group insurance.

C) insureds who convert their coverage to individual policies pay a premium
rate according to their attained age.

D) a covered individual may exercise the conversion privilege regardless of his
or her insurability.

The correct answer was — A

CLR T 55 A N5 DR B e R AU SR RO IR 02 IR B Y Bk 1
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IEERE - A

Explanation:

When a group plan is terminated, group coverage of the insureds generally is
extended for 31 days.

AR 2R, Bl ORES B 478 o5 Vo B Y 2 SE 31K

Reference: 13.8 in the License Exam Manual.

Question 8 - #201308

A group life insurance plan participant who has been covered under the plan
for four years terminates employment on October 1. On October 22 she dies
without having made a decision whether to convert her group coverage to an
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individual policy. What action will the insurer likely take?

A) Underwrite the deceased employee to determine if she would have been
insurable, and if so, give the beneficiary the option of exercising the conversion
privilege and buying a policy on his life.

B) Assume that the deceased employee would have elected the conversion
option and pay the death benefit without regard for the deceased employee's
insurability prior to death.

C) No action, because the employee had not elected the conversion option.
D) Underwrite the deceased employee to determine if she would have been
insurable, and if so, pay the death benefit to the beneficiary.
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The correct answer was — B

Explanation:

If a terminated employee dies during the conversion period without having
attempted to convert life coverage, insurers must presume the deceased
would have elected to convert before the end of the conversion period if death
had not occurred. Death benefits are therefore still payable.

U SR AR A RIS 1) JRE DR 78 48t 1) 0 T Ak PR e e N T B, DR B 2 ] o
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Reference: 13.8 in the License Exam Manual.

Question 19 - #201309

With portable group term life insurance:

A) The term policy builds cash values, unlike individual term life insurance.
B) An employee can convert a term policy to a whole life policy.

C) The premium rates decrease every year.

D) The premium rates are lower than those for individually sold coverage.

The correct answer was — D

i 4% A R € N T DR 2«
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A SN NEMAFGREAR, CRAGEIEINE.
B) B3 AT LUK 5 I ORIS: #2428 B ORI

C) PRICREFEHAE T

D) GRIEFRLTHELS N AR IRE IR D

IEfME %2 - D.

Explanation:

Many employers offer portable group term life insurance, which means that
employees can take, or port, their insurance with them. The insurance
coverage remains a term life benefit with no cash value. All of the ported
policies are pooled together rather than remaining in the employer's plan. The
rates are therefore more like group rates and are much lower than those for
coverage sold to individuals.

VF 2 i SR AUE % A e TN T ORES, XMk B3 ] DARE B 4% 717 Bkportft i
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Reference: 13.8 in the License Exam Manual.

Question 25 - #201310

Susan, while in the process of converting her group life insurance to an
individual policy, dies. What happens to the claim her beneficiary submits?

A) It is paid under the old group plan.

B) It is not paid by either policy.

C) It is paid under the new individual policy.

D) It is paid pro rata by both plans.

SRS R NG RS FE N MR AR R, CagET. M52 as AR H
:’%5? l:lzs.‘ uﬁ?

A R IH 1 A THRISZ A
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C) MRHEHT AN NARFSAS o

D) AT LS AT

The correct answer was — A

Explanation:

If the person insured under the group life insurance policy dies while eligible for
conversion but before the individual policy becomes effective, the amount of
life insurance that she would have been entitled to have issued under the
individual policy is payable as a claim under the group policy, whether or not
the individual application or payment of the first premium has been made.
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A0 RN T3 DR S s DR IS BN AE AT AR A B 15 DL R AE T (EAE D AR
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Question 2 - #201287

Group life insurance plans in which employees contribute to the overall
premium are called:

A) group underwritten.

B) Noncontributory.

C) Participatory.

D) contributory.

The correct answer was — D

T AR I REAR DT MR AR SR ) N 5 ORI R AR ON
A) AR,

B) A&k

C) =5k,

D) %43k

IEHIZ S & - D.

Explanation:

When employees contribute to the premium payable for a group life insurance
contract, the plan is called contributory.

M 0 L AR NFF ARG A R BT AR BRI, Zuh RIFR N3 .
Reference: 13.3.1 in the License Exam Manual.

Question 17 - #201288

A company employs 150 workers, 50 who are part-time. A group insurance
plan is designed to cover all full-time employees. Each covered employee will
pay part of the premium for the coverage. The mandatory participation
requirement is:

A) 112 employees. B) 100 employees. C) 50 employees. D) 75 employees.

The correct answer was — D

—RKAFEPAL504 5 L, HAS04 MG T, FAR ORI vHRI S AR T
PR T, FAZRNERE ST E o RE . SRS 5 ZRE.
A 112451 T.. B) 1004 T.. C) 5040 T.. D) 75451 T,

IERH)Z A2 - D.
Explanation:
A group policy that is paid for partly by employees must have at least 75%
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participation from eligible employees.
A L AT RR R A B /DB TS5 % &M R L5 5,
Reference: 13.3.1 in the License Exam Manual.

Question 18 - #201294

If a group life insurance plan is contributory, what percentage of eligible
employees must participate in it?

A) 75%.

B) 90%.

C) 50%.

D) 95%.

The correct answer was - A: 75%.

)

LB AR A SR T A7 2 SR AR R T A1 5 5 B b E 2
£/

A) 75%.

B) 90%.

C) 50%.

D) 95%.

IEERE - &: 75%.

Explanation:

Group life insurance policies may be contributory (requiring the employees to
help fund the plan) or noncontributory (funded entirely by the employer). If a
plan is contributory, employee participation in the plan cannot be mandatory.
However, at least 75% of the eligible employees must elect to participate.
Noncontributory plans must cover 100% of the eligible employees.

WA N A7 DR BmT LA 3 (CEOSR A TN RIBR BE Bt ) BRARSN Y Geai)e £
WD o WARGHREREASRN, A TZ5RAZERIER. B2, £2075%
HIEH% R ARSI, FRGTTHRIL AT #5100 % 75 & 25 AR 52 T

Reference: 13.3.1 in the License Exam Manual.

Question 21 - #201289

If a group life insurance plan is contributory, what MINIMUM percentage of
eligible employees must participate?

A) 50%. B) 60%. C) 100%. D) 75%.

The correct answer was - D: 75%.

IR AR NGRS T RIR A HER W, S48 3 DO AS I AR E 7 g% b ?
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A) 50%. B) 60%. C) 100%. D) 75%.

EFZEZRRE -D: 75%.

Explanation:

In a contributory plan (one in which the employees are required to contribute to
the cost of the insurance) 75% of the eligible employees must participate.

TR R CER A T8RS SR TR . 75% 64 R T Zis .
Reference: 13.3.1 in the License Exam Manual.
Question 22 - #201286

If the employer pays the entire premium on a group policy, the plan is called:
A) contributory. B) Non contributory. C) Convertible. D) industrial.
The correct answer was — B

U 2R AR B ORISR B IR B 2, UARIZ TR -

A 5%k, B) FEZATRAL. C) W, D) Tk,

IEMZESRE - B

Explanation:

When the employer pays the whole premium for a group life insurance plan, it
is called "noncontributory.”

24 i ST R N AR RIS THRI ) A ORI BRI, ROy “HRZ03E 7 o

Reference: 13.3.1 in the License Exam Manual.

Question 24 - #201290

What minimum percentage of eligible employees must be insured under a
noncontributory group life policy?

A) 25%. B) 100%. C) 50%. D) 75%.

The correct answer was - B: 100%.

R & 2K I 5t T AEARSL S, B R N 75 R b SR R oy e 22 /02
A) 25%. B) 100%. C) 50%. D) 75%.

IEM% %R -B: 100%.

Explanation:

If employees do not contribute to the cost of their group life insurance, the
insurance must be available to all members of the group or to all employees.
AN AR A ARSI B N T ORI 0 5% F 5 DU 230 ) A B B A RS B BT 7 T it
TR

Reference: 13.3.1 in the License Exam Manual.
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Question 27 - #201291

Which of the following statements is CORRECT about a group life insurance
plan that is contributory?

A) The employer must pay for the entire cost of the insurance program.

B) All eligible employees must participate in the plan.

C) At least 70% of eligible employees must participate in the plan.

D) The employees must pay for part of the cost of the insurance program.

The correct answer was — D

KT BRI EEAR NG ORI TR (18T S0 — IR 38 A& 1A 14 2
A e ELISAT RIS TR B 2B 2 -

B) & sk 7 AL AZ 5zt

C) ZET0%FFEFAN R T2 5%t

D) R TAAHECA R vH R i #  9H

IEHEZE - D.

Explanation:
In a contributory group life insurance plan, employees must pay for part of the
cost of the insurance. Payments are usually made through payroll deductions.
FESU T BIAR NFF ORI THRI Y, A TSR R T . A S8 H @ T
e SENP

Reference: 13.3.1 in the License Exam Manual.

Question 29 - #201292

If an employer pays all the premiums for a group life insurance policy, the
policy must insure:

A) At least 75% of the eligible employees.

B) At least 40% of the eligible employees.

C) All eligible employees.

D) At least 50% of the eligible employees.

The correct answer was — C

AR e AT RN R BT A IR 9, I PR B DA Z R -
A) ZAOT5%HIER R T,
B) £/040% & T,
C) A& &R T,
D) &/50% K& H R T.

IEREZAZ - C.

Explanation:



04 Retirement and other insurance concepts (1B /R F1 H AR 5 HE )

If an employer pays all the premiums for a group life insurance policy, the
policy must insure all eligible, insurable employees. However, if the employees
contribute all of the premiums, the policy may be placed in force only if at least
75% of the then-eligible, insurable employees elect to make the required
contributions.

U0 e ST R N3 ORI B0 i A DR 9%, A2 ORI AU I 45 & 26 A IR AT fR B2
JE iR, (B, R R TIRMTA R, WA LI RF & A AT DR 5
/DT % IR AR B T ORI I, R A TR R

Reference: 13.3.1 in the License Exam Manual.

Question 5 - #201296

Individual certificates issued to all individuals insured under an insurance
policy must include the following information EXCEPT:

A) A statement as to whom benefits are payable.

B) A conversion provision.

C) The premium amount.

D) A statement of the insurance protection provided.

The correct answer was — C

AR5 DRI B 7] AT 32 IR AZE R AN NIE R A R E R, BR T
A) KT SCATHEA B 75 I o

B) FHEK.

C) RIEH.

D) $RALORES PrFF A B

IEHRE %A - C.

Explanation:

Individual certificates for insureds in a group plan must state what coverage is
provided and to whom it is payable, and include a detailed conversion
provision.

P T el H Al DR S N RIS NAIE A5 0 23 156 BH 3 14 B0 R RS i AT AN X R, HF R 1
LSS S

Reference: 13.4 in the License Exam Manual.

chapter 3

Question 1 - #200590

An insurance agent should be all of the following EXCEPT:
A) Reputable in business.

B) A college graduate.

C) Qualified to perform insurance functions.

9



04 Retirement and other insurance concepts (1B /R F1 H AR 5 HE )

D) Honest and trustworthy.

The correct answer was — B

RESGARE AN IZAZLL FTAE N, BT :
A) fERNL EHEE.

B) KZEHA,

C) A REMIBAT IR HRAE

D) WS,

IEHESREZ -B

Explanation:

An insurance agent must be honest, trustworthy, qualified and have a good
business reputation.

PRIGAREE N LA SE, HEH, SHIFEE RIGFMRELEE.
Reference: 3.3.5 in the License Exam Manual.

Question 8 - #200593

Nancy is an agent for Assured Life and Health Insurance Company and
convinces Susie, a young newlywed, to buy a policy. Susie and her husband
have recently moved to the city and found new jobs. Nancy wants to help them
get settled. She may help them in all of the following ways EXCEPT:

A) Explaining the coverage.

B) Collecting the initial premium.

C) Delivering the policy.

D) Prepaying the initial premium.

The correct answer was — D

Nancy ZAssured Life and Health Insurance Company {8 HE N, FE 3 ARE 5 5T
USRI Susiel LR . 75 PE ANt 1) SUR B W2 1 IX AN, B TR TAE. B
RO B T2 R ok, AT DS LR BT 7 s BAAT: R T

A) fRBEE EIEH

B) WCHXHIUE IR B

C) FLHEBUR .

D) AT HILE IR -

W E S - D.

Explanation:
As an agent, Nancy is not responsible for paying a client's premium, in
advance or at any other time.

PEOREEN, R A A9 B 4 A BAE A i) A A 8] 2 A5 2 7 (DR 2
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Reference: 3.3.5 in the License Exam Manual.

Question 12 - #200591

What is the definition of a fiduciary?

A) A person in a position of trust and confidence who handles the affairs and
funds of others.

B) An insurance agent who sells policies worth more than $1 million in death
benefits.

C) An institution that handles trust accounts for the wealthy.

D) A person who determines policy rates at an insurance company.

The correct answer was - A

SZFENHIE XA A?

A —MEFFBAEENN, AT E b NS5 B & .
B) &I EEL10077 Lo LT Pt & i) PR ARERA .
C) AbHEE MEFEIR FIPLA

D) e RS 2 F] R DR AN

IEEZRE - A

Explanation:

A fiduciary is a person in a position of special trust and confidence charged
with handling or supervising the affairs or funds of another.

BN GESR AL BB B N 55 BB e R IR B FE A BRI .

Reference: 3.3.5 in the License Exam Manual.

Question 13 - #200586

All of the following are agent responsibilities toward the applicant EXCEPT:
A) Prepaying the initial premium.

B) Delivering the policy.

C) Explaining the coverage.

D) Collecting the initial premium.

The correct answer was — A

CUR BT AR A S AR 5T, BR T
A TRATHIGE IR 5% -

B) $EACHK.

C) RERE,

D) USRI UR PR 22

EMELRZE -A.
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Explanation:

The agent has no responsibility to pay a client's premium, in advance or at any
other time.

AP G 5 42 A BAE AT AR AL [ S A 25 P B ER 2

Reference: 3.3.5 in the License Exam Manual.

Question 16 - #200588

All of the following statements pertaining to an agent's handling of premium
money are correct EXCEPT:

A) An agent may spend premium money for his personal use.

B) An agent holds premium money for the insured; the money belongs to the
insurer.

C) An agent violating regulations concerning handling premium money may be
charged with embezzlement or mishandling funds.

D) An agent must not make personal use of premium money received from
policy owners.

CLN T AR N AL R OR 98 SR PRR A2 IERARY, B T

A AR BATE (R 28 0B T A 3%

B) BN NGO AFFA R, XERR T IR A F

C) A R IR B S I E AR FT BER % LA 975 BRAL BEAS 4 I B <2
D) MREAAGA NE MRS NAERIFHI IR 5%

The correct answer was — A

Explanation:

An agent enjoys a fiduciary role with an insured. This establishes a relationship
of trust. As a result, the agent must be very careful in handling money received
from the insured and the company's premiums or be subject to harsh
penalties.
RENEEREANZHEENSG. ZIPVE TEEXRR. B, REAELH
AR B AR )R TN 2 =) LR IS B B 0 AR 8 /N, 15 DK 32 387 5 1) 4k

e
Reference: 3.3.5 in the License Exam Manual.

Question 25 - #200589

An agent's primary responsibility is to:

A) Renew her license at the appropriate time.

B) Collect premiums on a regular basis.

C) Submit all applications promptly.

D) Act in accordance with the agency agreement.

The correct answer was — D
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B ) T R T 2

A) FEIE = I RS2 i 1 R
B) & MU fR 3% o

C) KINRAZF A B .

D) BT

IEHE S - D.

Explanation:

The agency agreement is the agent's contract with the insurance company. It
defines the conditions under which the agent agrees to represent the company
and governs the agent's activities on behalf of the company.

IR G R AR KGR  EE X TN R SR RS, JF
ARE A= ARG

Reference: 3.3.5 in the License Exam Manual.

Question 41 - #200587
An individual who occupies a position of trust when handling the financial
affairs of another is:

A) A fiduciary. B) A consultant. C) A superior. D) A trustee.

FEALFR 57— NHIIA 55, AEARE RGN A2 -
A) ZFEAN. B) Ei. C kA, D) ZfEA.
The correct answer was — A

Explanation:

A fiduciary is an individual occupying a position of trust and confidence when
handling or supervising the funds or the affairs of another. A trustee is a
person appointed or required by law to execute a trust to the benefit or use of

another.

ZAENRAEA B B E A N3 GBS EFMEER DN ISR
O BB SR 5y — 07 B B BAE AT (S RN

Reference: 3.3.5 in the License Exam Manual.

Question 52 - #200592

A fiduciary responsibility is defined as:

A) A relationship of special trust and confidence when a person is entrusted
with another's funds.

B) The responsibility of the insured to pay premiums in a timely fashion.

C) The responsibility the producer has to the appointing insurer.

D) The relationship between the broker and the insurer whose products are

13
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sold.

ZAETHEE L :

A) B DABEFES 51— AR B &N, FIREAEER KR,
B) MORES N SIS SEASORES: 3 O ST AE

C) AREHRIXRE RIS A 7 I 5T1E

D) ZLNSH™ AR RE A R Z (8K AR .

The correct answer was — A

Explanation:

A fiduciary responsibility is one of special trust and confidence in which a
person is entrusted with the funds of another person. For instance, all
premiums belonging to insurers and all unearned premiums belonging to
insureds received by an insurance producer are held in a fiduciary capacity.

EFRTTER — MR T E AR, b —DPARS A P AREE. fil,
J& T ORI 23 7] B B AT D 9 RO S 2 =] WA B I AT R DR BSe PR 62 9 27 ASZ FE N B
[AEER P

Reference: 3.3.5 in the License Exam Manual.

Chapter 6

Question 32 - #200746

Which of the following statements regarding a deferred compensation plan is
CORRECT?

A) The employer purchases a whole life insurance policy on key employees
and receives the death benefits if the employee dies before retirement.

B) The employee uses part of his current income to purchase a whole life
insurance policy, the cash value of which can be accessed only while
employed by the current employer.

C) The employee agrees to forgo part of his current income until a specified
future date, typically retirement, and may use life insurance as the funding
vehicle for the plan.

D) The employer purchases a whole life insurance policy, the cash value of
which the employee can access only while working for the employer.

The correct answer was — C

R SE S AR B LA IR RO A IR ?
A T INOcHE I T SEA B R G OR R, 2R i TAEIRARAT 254, U w] S sE T

RIS
B) i DA A BTN 1 — B0 W SR 28 By A R AR iR, HBL B R REAE 2wl e
E A RESRTE

C) A LRERIL LA — o721 AR H I R ZIBAD , "Il
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i AR ORI A i Rl O R 8 L
D) JE LKA SRR, 5 TR AN EE TR A SRS I eI E .

Explanation:

A deferred compensation plan is an arrangement whereby an employee (or
owner) agrees to forgo some portion of his current income (such as annual
raises or bonuses) until a specified future date, typically retirement. Life
insurance is a popular funding vehicle for these plans in that the amounts
deferred are used to pay premiums on cash value life insurance. At retirement,
the cash values are available to the employee to supplement income. If the
employee dies before retirement, his beneficiary receives the policy proceeds.

IEAMETHRIGE SR S 5y (B &) AR TR — i  (Bl a4
Froe) HRFREMNAKHEN GRFRZBIN) L. ANGREZIZET L
MiifTans: TR, DPUAEMEHH T3 IEME NG R RRE . BIRES,
ATA PME LS ERAN RN . IR R TAERARET LA, Al A2 2 A Kl
PR F o

Question 4 - #200747

Which of the following statements pertaining to key-person life insurance is
CORRECT?

A) The insured key person controls the policy.

B) The policy is a company-owned asset.

C) The owner of a company cannot be considered a key person.

D) At the death of the key person, proceeds are paid to that person's
beneficiary.

The correct answer was — B

DLR D3R 42 5 G5 AW 73 [ AT 5% A R I8 A2 1 ) 2

A BRI B2 I BUR

B) ZBURA ARG R

C) AFMIPTE ARG N KN -

D) fERBEN BN, Wt STz N2 m A

IEHELRE -B

Explanation:

A key person is any person in an organization whose contributions are
essential to its success. With key-person insurance, the business is the owner,
premium payer, and beneficiary of the policy. The purpose of the insurance is
to protect the business against the economic loss it would suffer if the key
person were to die.

RKENVRAL P RAERN, Horia g2 cm T, @l s AR,
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AR ERZSCERBKITAERE, MFRAMZmAN.  REEE R R 2
KEEN GISET- T RN A TR K o

Reference: 6.4.2.1 in the License Exam Manual.

Question 5 - #200750

A corporation has key-person life insurance on its president and vice president.
The policies show current total cash value of $15,000. Which of the following
statements is CORRECT?

A) The premiums the company pays for the policies are tax deductible.

B) The executives may access the policies' cash values during retirement.

C) The company may use the policies' cash value for emergencies.

D) The policy proceeds will be taxable at the executives' deaths.

The correct answer was — C

NSRS FI K T RN RS . 2R EE R H TS IS E N
15,000 6. LA T BRI RIA A& IR A 1) 2

A A FEINREB AT R 58 AT LBt

B) & nI LATE IR K HA (8] 2R E AR 5 ) IR A ME

C) AR LLBIX LR RIS EH TR0

D) PRELUL a4 AE = 2 B AERL

IEHRE %A - C.

Explanation:

With key-person life insurance, the owner, premium payor, and beneficiary of
the policy is the business organization. Complete control of the policy rests
with the business, which means key-person insurance can be considered a
company-owned asset. The death proceeds and cash value can therefore be
used for a variety of business purposes by the corporation. While premiums
are not deductible, death proceeds received by the business are not taxable.

T REAMFFS, REKPTAE, RETHANMZm NZRLHR . kg
B el iR, XA BN ORI AT AN A R AT BB . A,
N A PR SR T s B e E A T A A DL H . SRR P S, Ed
W BIFIZET TS A s B ANRL

Reference: 6.4.2.1 in the License Exam Manual.

Question 13 - #200748

Which of the following statements pertaining to key-person life insurance is
NOT correct?

A) A key employee is any person whose contribution to the success of a
business is essential.

B) The ABC Company purchased a $75,000 permanent life insurance policy
on its general sales manager five years ago. This likely was reflected each
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year in the company's balance sheet as a loss.

C) The ABC Company is the beneficiary of the key-person life insurance
policies on its president and general sales manager.

D) The ABC Company insured the life of its company president for $150,000.
The ABC Company is the owner of the key-executive policy.

The correct answer was — B

DU Rk 55 5 N W75 A8 o0 IR R AS IE A 2

A SR L TR M B T ) DR 22 5% B B AT A N .

B) HAEHT, ABC AR NH SAHESIHIYE 175,000 G K ANFREE R, X
A Re R AR AR I AR A B I B2 7= R iR HR AR AR .

C) ABCA R RHBFMBHELH I i N F R ZEN

D) ABC/A ] LA150,0003 70 N 3% ABCA Rl & REHATEER M TG & .

IEHESREZ -B

Explanation:

With key-person insurance, the business itself is the owner, premium payer,
and beneficiary of the policy. As a result, the policy can be considered a
company-owned asset, not a loss.

AR AMIRE, AR SRR, RIS MZm A B,
SRR AL A F AT, AR K.

Reference: 6.4.2.1 in the License Exam Manual.

Question 35 - #201327

Which of the following statements pertaining to key-person life insurance is
CORRECT?

A) Key-person life insurance provides a death benefit for the key-person's
family equal to the benefit for the business organization.

B) A company insures the life of its controller with a key-employee life
insurance policy. The premiums are tax deductible, but if the controller dies,
the policy proceeds would be taxable.

C) The owner of key-person life insurance is the key person, and the
beneficiary is the business organization.

D) A corporation has key-executive life insurance on its president and vice
president. The policies show current total cash value of $15,500, which may be
used by the corporation for emergencies.

The correct answer was — D

DL 038 42 5 9 B A3 B A R AR IR 3 A T ) 2
A REENMFFRIN R NI R BESR 5 A Mb 4 23 2 AR S5 B AL T T 4
B) 2@ ICH 5 TNFF RIS BORH R L2 3 ) dr e DR AR, B
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BRI PISET, PR B AOUR 2 K 2 ALY o

C) REANMERHI A& RAREAY), Zm Nrmil .

D) ~FE K EHME S EMA EERTERAGRE. XEBEEER SIS IE
#M{E 15,5005 70, R A e R R SR OL T XLl

IEMIIZ %2 - D.

Explanation:

The death proceeds or cash values of key-person insurance are a
company-controlled asset, available to the company to use for emergencies.
Death proceeds from the policy are not taxable nor are premiums
tax-deductible.

B N PRES: B FE oW e B e B 2 A~ ml R I B2 77, A AT T R 2RO
TREHIZET IS s AERT, DR 2% AN AT HRB

Reference: 6.4.2.1 in the License Exam Manual.

Question 36 - #200751

Cyhbil is insured under a key-person life insurance policy owned by Delta
Corporation and then quits her job. Which of the following statements is NOT
correct?

A) Delta can keep the policy in force.

B) Cybil can convert the policy to an individual policy.

C) Delta can surrender the policy for cash.

D) Delta can assign the policy.

The correct answer was — B

Cybilt#fiDelta Corporationtl & 158 N F RIS PRRS, WAL T/E. IR
WA T A IR A T Hf 2

A IR T DUORER I OR B [0 351

B) Cybiln] LUK R B AL oA MR

C) KK AT LA OR B S IO 4

D) 1A AT LU R

IEERZE -B

Explanation:

If Cybil leaves Delta Corporation, the company can surrender the policy for
cash, assign the policy, or keep it in force, because there is no need to
maintain an insurable interest. Cybil has no conversion right with respect to the
key person policy because she does not own the policy.

WS CybilE H Delta Corporation, %A & 0] LA PR B SCHUI 4, BUTH PR B Bl AR
RROR AR LA R, BIIRCH L ERFF AR A aE . Cybilkf B AP OR BLORA e
B B A A 2R

Reference: 6.4.2.1 in the License Exam Manual.
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chapter 14

Question 1 - #201316

Social Security is intended to do all of the following EXCEPT:

A) Provide retirement and survivor benefits to a worker and his family.

B) Provide basic protection against financial problems arising from death,
disability, and retirement.

C) Supplement a personal insurance plan.

D) Provide a source of income for a reasonable standard of living during
retirement.

The correct answer was — D

A RFEE B ESAT LU N TR, R T

A N T NGEHEIR AR R I35t B A o

B) fRAtEALRY, PABTIEEBET:, FREAIRARIT 5142 B0 55 ) R .
C) #hFEA NIRRT R

D) fEIRIARIYIE] & R 1 A T AR AE SR BN R

IERR)ESR2 - D.

Explanation:

Social Security is designed to provide basic protection to all working
Americans against the financial problems arising from death, disability, and
aging. It is not designed to provide a source of income for a reasonable
standard of living when a person retires.

A= ORfE e B AT A RS E SRR, DIBTIERAET:, SoRmzZieit
= AR 55 . BRI TAE— A NIBIRI Ny & B AE TR 4R RN SR
U

Reference: 14.2.2 in the License Exam Manual.

Question 12 - #201338

Which of the following statements is CORRECT?

A) Lester, age 25, who recently became totally and permanently disabled, may
qualify for Social Security benefits, as long as he is classified as currently
insured.

B) When an eligible worker dies, Social Security does not provide death
benefits to surviving dependents.

C) The Social Security program is funded by a payroll tax.

D) Continuing to work after retirement will have no effect on a retiree's Social
Security benefits.

The correct answer was — C
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LA B T o S 1=t 2

A) Lester, 25%, BITMANTEEMKARIKMN, ARG REEREA], R
FAMAIARIY B AT RN o

B) A EFMIMTASELTR, #HaRENSAEFNFBRHILTTME .
C) Mo frBEitd b TR BT,

D) B4R TAE X IRAR N 5 A 2 ORBE AR A B 2

IEHEZE - C.

Explanation:

To be eligible for disability benefits under Social Security, an individual needs
to be qualified as fully insured, not currently insured. In addition, working can
affect a retiree's Social Security benefits. Retirees younger than the full
retirement age who continue to work and earn wages after their Social Security
benefits begin are limited as to the amount of wages they can receive. If they
exceed this earnings limit, their benefits are reduced. Social Security does
provide death benefits to surviving dependents.

N T A BRI = RS T HVRBRAEA], DAREAGCEREEN, mALZH
AT DRI . BEAh, TARRREXFOMIRIR N A & ORfEAR Al R T s 2R
IREF i HAEAL 2 ORBEAR A T 45 J5 48 42 T AR R B AR RN B3, AR ATT AT BA3RAS
LR BEAIR.  WRAATES SN BRE, AR APRE gD o A 2 PR PR
DSSEERE 5 £/ YT AWEy i

Reference: 14.11 in the License Exam Manual.

Question 20 - #201314

All of the following statements correctly describe the purposes of Social
Security EXCEPT:

A) Protect workers, their spouses and dependent children.

B) Provide a source of income for a meaningful standard of living.

C) Provide basic protection against financial problems accompanying death,
disability, and retirement.

D) Augment a sound personal insurance plan.

The correct answer was — B

CLR T BRIR AR LA A A ORBER I, BR T

A RIFIN, BCEMZTETRT L.

B) VA R X HAEFE AR BRI .

C) RAIALRY, UABTIEFERESET, FRBONLR R 55 7 L .
D) HghnfEa A ARl
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IEHEZRZE -B

Explanation:

The purpose of the Social Security system is to provide a basic floor of
protection, to augment-not replace-a sound personal insurance plan. Many
expect Social Security to fulfill all their financial needs, to provide a meaningful
standard of living. The consequences of this misunderstanding has been
disillusionment by many Americans who found they were inadequately
covered when they needed life insurance, disability income, or retirement
income.

A ORFER R H H R R A DA RS, DI - AP Mg 20
MANREL R VP2 A Bt REEREE I AN I B s &R, RIUEAE
AT . 2 REANERTENTGFRE, DA BB RIS & BT
BARP R RIOREE, XPRIENE RS R,

Reference: 14.2.2 in the License Exam Manual.

Question 25 - #201315

All of the following benefits are available under Social Security EXCEPT:
A) Disability benefits.

B) old-age or retirement benefits.

C) Death benefits.

D) Welfare benefits.

The correct answer was — D

A REE S, BT LR AR AL, BR T
A BRIRARA

B) FRZEUBRIAAEF].

C) FETARF.

D) ARFIFrE.

W E S - D.

Explanation:

Social Security provides death benefits, old-age or retirement benefits, and
disability benefits to eligible workers. Security is an entitlement program, not a
welfare program.

o RBE VR & 26 B TSR BEAE T PR, 758 B BURRAR A DL A SR AR A
o S IREERAATRI, A AR TR

Reference: 14.2.2 in the License Exam Manual.
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Question 38 - #201337

Which of the following statements regarding Social Security benefits is
CORRECT?

A) Both employees and employers are taxed to pay for Social Security.

B) Social Security taxes are payable on all of an individual's income from any
source.

C) Only individuals who have paid into the Social Security system are eligible
to receive Social Security benefits.

D) Social Security pays benefits in the event of retirement or death only.

The correct answer was — A

LN I8 5G4 2 DR Bt A 4OA 2 IERf G ?

A) e GBI AR AN AL S ORI

B) th o PREFALZ XS K B AEMTRIER B NS ST

C) RA LAt = R I N A RAR IR AL 2 ORBEAR A o
D) Ak RBE AR AR BRE T SR A o

IEEZRE - A

Explanation:

Social Security was designed to provide benefits to individuals and their
families in the event of death, disability, or retirement. It can cover all members
of an eligible worker's family, whether or not they themselves have paid into
the system. Social Security is funded by a tax on a worker's pay, which is
shared equally by the worker and the employer.

e frRbE B AN N LR NI, BRBGRIRN R HEAER . B AT DA R 57
BRI TAFKERA SR, TRMITRGEEITEIRG T . tEaRIER
PR AR TALTRRMER, TAHNEEFE 7048,

Reference: 14.11 in the License Exam Manual.

Question 40 - #201313

All of the following benefits are available under Social Security EXCEPT:
A) Welfare benefits.

B) Disability benefits.

C) old-age or retirement benefits.

D) Death benefits.

The correct answer was — A

R RAE AT E AN AERS, BT
A) HEFIFFIE.

22



04 Retirement and other insurance concepts (1B /R F1 H AR 5 HE )

B) FpARA .
C) ZHBURRMER .
D) FET-ARA .

IEEZRE - A

Explanation:

Social Security provides death benefits, old-age or retirement benefits and
disability benefits to eligible workers. Social Security is an entitlement program,
not a welfare program.

A RECART & A TSRS M, 738 B BOR AR e A AR A
& AR BRI, A RAEA T

Reference: 14.2.2 in the License Exam Manual.

Question 42 - #201312

All of the following benefits are available through Social Security EXCEPT:
A) old-age benefits.

B) Medical expense benefits.

C) Death benefits.

D) Disability benefits.

The correct answer was — B

A PREE ] SRR A UM AR AL, BR T
A) ZFARA

B) B&JT B HIARA

C) FETARF.

D) FRIAEF

IEELRE - B

Explanation:
Social Security provides death benefits, old-age (retirement) benefits, and
disability benefits to eligible workers.

FEEREEN A R T ASRMSE T34, Z4F GRIRD AR
Reference: 14.2.2 in the License Exam Manual.

Question 46 - #201339

Jake has been a self-employed business owner for the past 15 years. Which of
the following statements is CORRECT?

A) Jake must only pay the Medicare portion of the FICA tax.

B) Jake is not subject to the FICA tax.
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C) Jake must only pay the OASDI portion of the FICA tax.
D) Jake will pay a higher amount of FICA taxes because he is self-employed
than if he were an employee.

The correct answer was - D

AR, A —HaMEERAE,  PUFERIERIR & IERR 2
A) R R ATFICARL fiIMedicare 45 »

B) Z T AZFICABIIZIH .

C) 77 R HAHFICARLIOASDIES 7> -

D) Jake¥ AT H I MFICARL, BUNME B AT, A RME— AR .

Explanation:

Both self-employed individuals and employees must pay FICA taxes. However,
employers pay an equal amount of these taxes on behalf of each employee.
Self-employed workers, in contrast, must pay the entire amount. This means
that, with a FICA tax rate of 15.3%, a self-employed individual would have to
pay the entire tax while employers and employees would split the tax (a 7.65%
rate for both employees and employers).

HJE N LA RS AUERANFICARL.  Ha2, JiE FAREEAL 5 LA R
Bk MR, HELANDBDISAHEEEH. XEWE, EFICABF15.3%
HITEIL T, BB TN AT AR, e A0 DR Bl (e 53R /Y
Fi# HT7.65%) .

Reference: 14.11 in the License Exam Manual.

Question 3 - #201340

Which of the following statements BEST describes the general tax treatment of
life insurance pre- and post-death distributions?

A) Most pre- and post-death distributions from a life insurance policy are
subject to income taxation to the extent there is gain in the policy.

B) All distributions from a life insurance policy at the insured's death are
income tax free but pre-death distributions are subject to income taxation to
the extent there is gain in the policy.

C) Most distributions from a life insurance policy at the insured's death are
income tax free but pre-death distributions are subject to income taxation to
the extent there is gain in the policy.

D) Most pre- and post-death distributions from a life insurance policy are
income tax free.

The correct answer was — C

CLR BT PR IR BES TR 1 AN A5 ORI B AU ANSE 5 70 FC (9 — oA 55 Ab 22 2
A NGRS A 1)K 2 205 T AN SE i 20 BO AR 5 2N P S B, BRI A Ui

24



04 Retirement and other insurance concepts (A& /R F1H:Ath R 5o HE )

fiio
B) P BIBLORES NSET I N3 ORI B0 i A 70 BC 2 SR AR A58 (H B AT SRR
DRI R 5 73 2GRN T 45450 o

C) KB AR RIS N ST I N A ORI B0 (1K 22 K BO 2 S i), (H B BT SR K
FEOR FLIRAT BV P 75 20 i A5

D) K87 I N ORI 5. mp ) B BT A AL 5 73 BO R 2 B A o

IEHEZE - C.

Explanation:

Most distributions from a life insurance policy at the insured's death are income
tax free but pre-death distributions are subject to income taxation to the extent
there is gain in the policy. The death benefit of a policy that is subject to
transfer-for-value rules may be subject to income taxation, so it is not correct to
say all policies enjoy a tax-free death benefit.

DRI 23 7 FE T NS5 DR 6 BB KR 23 20 B A8 S ), (EL B 1T 70 BCAE fR 53R A5 1Y
W A7) TR ST A B ST B % M U 240 SR A O B R B T 2 W RE 75 2 2040
Frat, U BURER A RS A a2 AN IR Y .

Reference: 14.12.1 in the License Exam Manual.

Question 9 - #201355

Assume Silo, Inc., provides each of its 20 employees with $50,000 in group
term life insurance coverage. Which of the following statements is CORRECT?
A) Any lump-sum proceeds paid under the Silo group life plan to a deceased
employee's beneficiary are taxable as income.

B) Each Silo employee must report his or her proportional share of the
premium as income.

C) Silo, Inc. cannot deduct the cost of the premiums it pays for its group life
coverage.

D) Silo, Inc. can deduct the cost of the premiums as a business expense.

The correct answer was — D

R #Silo Inc. 932044 61 T.73 7|32 £4t50,00036 7o ) A & I A7 R 6r . BT W

ik 2 IE T 2
A) AR Silo S A (W Rl 1 EL MO 5301052 35 A ST AT — bl 2 46 1
NGB

B) A4 Silo 5 T 550K FLOr 9 ) EL A7) 0 BTt 7 MO
C) Silo, IncABE BN T ORI SCAT I TR 5% [ A HEAL o
D) Silo, Inc. R BLREOR 2 1 BASE 9 E ML 5% FIF0ER -

IERH)Z A2 - D.
Explanation:
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The premiums paid for the first $50,000 of employer-provided group term life
insurance coverage are not taxable to the employee. The employer may
deduct these costs as a business expense. Proceeds are never taxable as
income if they are paid in a lump sum.

JiE T 5L 55 —1~50,000 ST A4 & BN A3 ORI B OR 98 AN ) JiE RAERR . JRE
A LUK IR e 3% R 85 B TR . R — IR SR, T AT AR sk IR AN i
AR

Reference: 14.13 in the License Exam Manual.

Question 11 - #201342

Cal, age 57, owns a whole life insurance with a $750,000 face amount that
was paid for in 2002 with a single premium of $100,000. The current cash
value is $125,000. If he were to borrow $30,000 from this policy today, which
of the following choices best describes the tax treatment this transaction will
receive?

A) The first $5,000 of the loan is tax free, and the remaining $25,000 is subject
to income taxation.

B) The loan is income tax free.

C) $25,000 of the loan is subject to income taxation plus an additional 10%
penalty tax.

D) The first $25,000 of the loan is tax free, but the remaining $5,000 is subject
to income taxation.

The correct answer was — C

Cal, 57%, #HL G NFHFIRK:, MHIEN750,000357C, T20024E501F, HEMR
2%9100,000% 70,  HETHIIEME 125,000 70, 405 A4 K B I I
FHP 5 AN30,0003 7G, LA WIB I 45 5 e Ut FH IX T A 5 4 3R A5 I B 55 il 2
A) TRERIIEE —4E5,0003 Tt i, FR 25,0005 70 75 B TR

B) TR,

C) 25,000 Tt BT TR EAANFT /SR, 55110 % I 1 3k Bt

D) H¥EKIEE —2£25,0003 Jo 2 B, {HFER 15,0003 7T 75 B840 Fr S Fi .

IEHRE SR - C.

Explanation:

This policy is a modified endowment contract (MEC), evidenced by the fact
that it was paid for with a single premium. Accordingly all withdrawals,
including loans, above the cost basis (the total amount of premium paid in) are
subject to income taxation and, if the owner is under age 59%2, an additional
10% penalty.

FZER R TE UG B AR (MEC) , HAFHE 2K AE & L — R 27 3 A+
M. [RE, PrAfREG, BREETH, MR GOATRIIRBEEAD 7SN
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FREFL, WA & ARW59%, MZAH10% 5 3K .
Reference: 14.12.1.1 in the License Exam Manual.

Question 24 - #201343

Betty, age 61, purchased a universal life insurance policy in 2000. In 2005,
upon receiving a sizeable inheritance, she paid an exceptionally large annual
premium and, in doing so, violated the 7-pay test. The following year, hoping to
correct the situation, she made no premium payment so that the average
premiums paid were less than the 7-pay test average. Today the policy's cash
value stands at $45,000, and her basis in the contract is $28,000. If she were
to withdraw $30,000 from the policy's cash value, which of the following best
describes the tax treatment this transaction would receive?

A) The entire $30,000 distribution is subject to income taxation.

B) $28,000 of the distribution is tax free, but $2,000 is subject to income
taxation.

C) $13,000 of the distribution is tax free, but $17,000 is subject to income
taxation.

D) The entire distribution is income tax free.

The correct answer was — C

I, 61%, 120005k 1 —Wi/TRe N A7 RIS . 20054F, M IAH =4 K i
FAIa, SR T R R E R Y, I HAXEE S 1 Tpayidllik. IR, N T
A EIXP SO0, WA SO RE, ISR P IR KT Tpay PHIEH. 5K
ORI {H 945,000 70, & 215 928,00056 70, AR I MR
Bl - $2HL30,0005 7T, LA T MR IR e 1t I A 52 K 3R A5 O B AU AR A8 2

A) #&/~30,0003 Jo i) 43 BiL 75 i A5 8 .

B) 28,0003 st EUE Filt, 22,0003 767 E4h 4N A3 Fi .
C) 13,0003 st HUE iy, {H17,0003 Jt 75 Z 459N AT 1585
D) BEANFRHUR B

IEHRE SR - C.

Explanation:

This policy became a modified endowment contract (MEC) the moment it
violated (and did not immediately correct) the 7-pay test. Once a policy
becomes a MEC, it cannot lose that status. As such, pre-death distributions
are treated first as a distribution of (income-taxable) gain, which in this case is
$17,000.
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ZORB BB RS SR (MEC) , HEHdxk OFHEAILNMYIE) 7-pay
Mk, —HRPBAMEC, ERARKREMECEMMAL. K, Bl
HEPAN (N - N Was i, AR E DL 917,0003 7T,

Reference: 14.12.1.1 in the License Exam Manual.

Question 26 - #201341

A life insurance policy under which the amount a policy owner pays during the
first years exceeds the sum of net level premiums that would have been
payable to provide paid-up future benefits in seven years is called:

A) A flexible premium contract.

B) A modified endowment contract.

C) A variable contract.

D) A paid-up contract.

The correct answer was — B

NFFARES B A, PREEFFE NAE S JUE ST SR 7 8 NSO R RAE R T
I SEAS BT HAOR l 40 2 F0:

A RIEHIRTEE T,

B) B HBIEE .

C) LA,

D) fh&&

IEELRE - B

Explanation:

When Congress enacted the Technical and Miscellaneous Revenue Act
(TAMRA), it effectively created a new class of insurance called modified
endowment contracts (MECs). MECs are taxed differently than are other
insurance policies. If the total amount a policy owner pays into a life contract
during its first years exceeds the sum of the net level premiums that would
have been payable to provide paid-up future benefits in 7 years, the policy is
classified as an MEC.

If the policy owner receives any amount from an MEC as a loan or withdrawal,
that amount will be taxed first as ordinary income and second as a return of
premium. In addition, there is a 10% penalty tax on amounts taken if the policy
owner has not reached age 59%.

HESHAAHARMBETICNIESR (TAMRA) B, B A8 T —MiR oA Bk
A& F (MECs) BT ORI . MECHIBIZR S HARIRE BRI R AR . 1R
TRELFFA NAE K JUAE SO 4 5 & R LS B AR I 1745 A A SCAS AR SRAR ) T
SRR IR B S, Wz IR B RS NMEC
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IROREFFA NI BIMECE A DR BRI T &8, 120 B el v id
WNAERE,  FIRAE D9 ORIG B% A R AERL . B4k, WZROREIFA N RIS B4R I
59%, JUIXS BT R X B AR 10 96 FY 11 35K

Reference: 14.12.1.1 in the License Exam Manual.
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